ggg'éfﬁﬁﬁiﬁﬁﬁﬁﬁﬁﬂ

B R R TR 2 B N [

e P BT BRI €[5 VAR 2 e 2
BPBE A (AR SRR 2 )
= RS S AR R S VTR R W
(I SR T O R IV BRI AR R g )
%u%ﬁﬁﬁzﬁ’meéﬁﬁ%ﬁ&ﬁsyowaﬂﬁzﬂﬁﬁwfﬂwﬁﬁﬁ
PET IR (2 o BRICE R T RN - PRI A - PR
R R Y ——:ﬁ = A -

S Y e o SLIER] PR S T R S N 2R e B
R QP Be] B LR PRI o R 1 e R -

= BERFEEIEHNG S

RERRERABEEAS AAS (T[S i) o pl FAS (LTl - R -
REBERRE & 1 W 15 S QR 1 B4 80 12 7| 14 PRSI =R Fl R
57 1) FHESFHH > HE A 7,000 BiIE - [l 3,323 3 F G R 2451 B3 - &
ﬁ?aﬁ, STl = @ﬁﬁ%f/m :

(=) PRSP B A E ARt B © ¢ B8 17 66109 > KRS AR 2 BIFORLA I 5
97 25-34 BRF71 35709618 % 1 Fl1Be] R 7 HSEE0 S SEEL | R pOr ]
L) o B BT ISR T e R N B

(=) g S EVRIR T ) 223096 BRI (AT (1 S )
AL CHITRe @D S e -

() ESFHHIS ¢ A SERE T 2] F] 0ATIGRL 2 IS B A S 3337
0 % (IS, (F 13 B PR, CELITe & -prafD) a0 s
T 56,4996 fFE1 I B S SE 36,199 -

—

(0D RGO IO SBR[ 74.8206 - R SRR E 7~ 4EF PR VIR ET)
e Elﬁ%%iﬁ_fﬁ'ﬁ%tw’ﬁﬁﬁ,[ﬂ i T 844196 FU A = IV ©

(Z0) WPEBERRIE S it A S EE BT S g 7 48,1496 - AR
28.23% + BEHIPU L I SO R %00 56,5196 0 2 it 32.52% ’Eﬁ?ﬁﬁ‘ﬁ’lﬁﬁgﬁr%lﬁ[
PR > 2 P VIR o > S PRI ST D o o) RN R R AR B
KRR R R PR SR AR o

() SEPFRERA 5 A 1) 9-12 CRIETS %) 4 % o 17 54.9696 » iy
FEHESEEETES 91,3596 » 2 Syl i 20 A B o

(=) SR HPBAGERT (Y C R o €] 48,1496 F# RIDE AL 2y



()
1

: ﬁfii "Rfkﬂﬁ [ =

. ifﬁ”i@i g {?FF Eﬁ%aﬁﬁ EE

%%{gjﬁj;l/ﬁﬁ@ W’?T"’ﬂ["’ I 3 ,aHFIHj‘!/ y Ty pTuér[ 1-15 7 » 3% PJ” j\_?!ul—f\ﬂ
P2 [V @B ) 67.2996 7 259 FERUARE 2 BRI RIE- WKET 49.8696
FUAE R 2 oS E o B 42,6296 i F1E 0 I (R > T 1 o A
VR *ﬁlrﬁ*m A SHEE

s AR | I

ﬁ'v

sl M’ju@“ = AL 66,549 - oS 70 IR IR

EJE}IIEBH /\

J7354/I1 T "‘ﬁl’m&ﬁ* Nl éﬁléviﬁﬁqﬁ "’*éf. 17
F %E[_‘ ,‘HFU_EIIIFI/

(= [eEste R LGSR i ﬁ%%/p#‘Jﬁfﬁ%ma 5 £,
=) Eﬁp J@aeﬁffﬂ{EJEﬁ [IEI

% o SEPS (DB e (R PR SR 2 2 IR
FREE 51.58% > ﬁ%&éﬁﬁ 15.30% » 2E&[f T&lﬁﬁﬁﬂl JEJ 15 gé/ ERSE A S Py
fﬂﬁl” FhEE e ‘{EIE‘H[ e (R U o

@“@xlﬁVA%ﬂ’EMm/t%ﬁ bE T RIS gl R (R

ﬁl‘%tJ iﬁﬂjﬁk it E 23.62% 7o F d\ﬁl[—a]ﬂ{ Yﬂgﬁ}ﬁ —E.J:]‘E;[ulsﬁg 0

éﬁﬁ » F) 75.24% % %ﬂ FER RV - ) 81.01
?ﬁtgjrf ¢%¥*ﬂfﬁ3f£%g§»a$@3f ﬁ[ﬂJanw

"y
E
’

P B GRS (R BRI T - (A A LY )

FEAIE > — 4D E EE-039 =004 ] » 5% S)PEE-0.25 = -0.03 ] » “RL e 5
FUgrh g 195 £ B HTA0 © GO (— L) HEY 0.3996-0.04% ~ 5
& RS 0.259~0.03% ) PR FIAFABRIEROL R AR » = ) E
P B ﬁFP~’u%wﬁﬁﬁmﬁﬁﬁwﬁi*ﬁﬁ%ﬁﬁ%gﬁ*'W%
fﬁﬁ B BRI SL 2 T B R
B~



